
APT-TECH 
Company Specific Test 

 

 

1. Mammals is to Man as Aves is to -------- (ASKED IN TCS) 

   a) Aero planes            b) Birds                          c)  Pigeons                  d) Fruit 

 

2. In the foll. que., which of the following pair of letters is different from the other three?(ASKED IN TCS) 

   a) URS – UrS             b) JPL-JpL                     c) PQM-PqM              d) MoN-MON 

 

3.   Three of foll. Four in each question are alike in a certain way and so form a group. Select the group of 
letters that does not belong to that group (ASKED IN ACCENTURE) 

   a) QWNB                   b) KCNL                        c) EOAF                     d) RUIS 

 

4. In each of the following series determine the order of the letters. Then from the given options select the 

one which will complete the given series   DFST, FSTD, STDF, ? (ASKED IN TECH MAHINDRA) 

  a) TSFD                      b) FDTS                          c) TDFS                      d) SFDT 

 

5. Three of foll. Four in each question are alike in a certain way and so form a group. Select the group of 

letters that does not belong to that group (ASKED IN TCS) 

      a) QWNB                         b) KCNL                         c) EOAF                        d) RUIS 

 

6. Facing the West direction, Priya jogs for 20m , turns left and goes further 40m. She turns left again and      
jogs for 20m. Then she turns right to go 20m to reach the park. How far is the park from her starting point 
and in which direction? (ASKED IN TECH MAHINDRA) 

     a) 20 m South                     b) 60 m South                c) 40 m West                  d) 100 m East 

 

7. Artist is to painting as senator is to  (ASKED IN TCS) 

     a) attorney                          b) law                             c) politician                    d) constituents 

 

8. Exercise is to gym as eating is to (ASKED IN ACCENTURE) 

     a) food                                 b) dieting                       c) fitness                         d) restaurant 

 

9. In a certain code 'MISSIONS' is written as 'MSIISNOS'. How is 'ONLINE' written in that code? (ASKED IN 

TCS) 

     a) OLNNIE                         b) ONILEN                    c) NOILEN                    d) LNOENI 

 

10. In certain code 'TIGER' is written as 'QDFHS'. How is 'FISH' written in that code? (ASKED IN 

ACCENTURE) 

     a) GERH                             b) GRHE                        c) GEHR                        d) GHRE 

 

11. In certain code 'FROZEN' is written as 'OFAPSG'. Then how would 'MOLTEN' be written in that code? 
(ASKED IN TECH MAHINDRA) 

     a) OFPOMN                       b) OFSMPN                    c) OFUMPN                  d) OFUNPM 

 

 

 



12. A's son B is married to C whose sister D is married to E the brother of B. How D is related to A? (ASKED 

IN HEXAWARE ) 

     a) Sister                              b) Daughter's-in-law        c) Sister-in-law              d) Cousin 

 

13. Pointing a photograph A man  said to his friend Y, "She is the only daughter of the father of my mother." 

How is the man  related to the person in the photograph? Pointing to a photograph, a man said, "I have 
no brother, and that man's father is my father's son." Whose photograph was it? (ASKED IN TCS) 

   a) His son                            b) His own                        c) His Father d) His nephew 

 

14. In a row of girls, Nivedita is 15th from the left and Vimla is 23rd from the right. If they interchange their 

positions, then Nivedita becomes 18 th from the left. Then at what position will Vimla be from the right? 

    (ASKED IN HEXAWARE)   

a) 25                                      b) 26                       c) 28                              d) 29  

 

15. The given ratio of two numbers is 3:2. If the L.C.M of them is 30, then calculate their sum. (ASKED IN 

TCS) 

a) 34                                      b) 25                                 c) 55                              d) None of the above 

 

 
 



 

 



 

 


